Lecture - 10

GDP and GNP
The gross domestic product (GDP) or gross domestic income (GDI) is a basic measure of a country's overall economic output. It is the market value of all final goods and services made within the borders of a country in a year. It is often positively correlated with the standard of living. Standard of living is generally measured by standards such as real income per person and poverty rate. Other measures such as access and quality of health care and educational standards are also used. Examples are access to certain goods or measures of health such as life expectancy. 
GDP can be determined in three ways, all of which should in principle give the same result. They are the product (or output) approach, the income approach, and the expenditure approach. The most direct of the three is the product approach, which sums the outputs of every class of enterprise to arrive at the total. The expenditure approach works on the principle that all of the product must be bought by somebody, therefore the value of the total product must be equal to people's total expenditures in buying things. The income approach works on the principle that the incomes of the productive factors must be equal to the value of their product, and determines GDP by finding the sum of all producers' incomes. 
Determining GDP
Product approach
Usually in this approach the economy is broken down into classes of enterprise: agriculture, construction, manufacturing, etc. Their outputs are estimated largely on the basis of surveys which businesses fill out. To avoid "double-counting" in cases where the output of one enterprise is not a final good, but serves as input into another enterprise, either only final goods outputs must be counted, or a "value-added" approach must be taken, where what is counted is not the total value output by an enterprise, but its value-added: the difference between the value of its output and the value of its input.

Gross Value Added = Sum of values added by all enterprises = Sales of goods - purchase of intermediate goods to produce the goods sold 

Depending on how gross value added has been calculated, it may be necessary to make an adjustment to it before it can be considered equal to GDP. This is because GDP is the market value of goods and services – the price paid by the customer – but the price received by the producer may be different than this if the government imposes taxes or subsidizes the product. For example, if there is a sales tax:

Producer's price + sales tax = market price 

If taxes and subsidies have not already been computed as part of GVA, we must compute GDP as:

GDP = GVA + Taxes on products - Subsidies on products 
Expenditure method
In contemporary economics, most things produced are produced for sale, and sold. Therefore, measuring the total expenditure of money used to buy things is a way of measuring production. This is known as the expenditure method of calculating GDP. Note that if you knit yourself a sweater, it is production but does not get counted as GDP because it is never sold. Sweater-knitting is a small part of the economy, but if one counts some major activities such as child-rearing (generally unpaid) as production, GDP ceases to be an accurate indicator of production.

Components of GDP by expenditure.
GDP (Y) is a sum of Consumption (C), Investment (I), Government Spending (G) and Net Exports (X - M).
Y = C + I + G + (X − M) 
Here is a description of each GDP component:

C (consumption) is normally the largest GDP component, consisting of private household expenditures in the economy. These personal expenditures fall under one of the following categories: durable goods, non-durable goods, and services. Examples include food, rent, jewelry, gasoline, and medical expenses but does not include the purchase of new housing. 
I (investment) includes business investment in plant, equipment, inventory, and structures, and does not include exchanges of existing assets. Examples include construction of a new mine, purchase of [software], or purchase of machinery and equipment for a factory. Spending by households (not government) on new houses is also included in Investment. In contrast to its colloquial meaning, 'Investment' in GDP does not mean purchases of financial products. Buying financial products is classed as 'saving', as opposed to investment. This avoids double-counting: if one buys shares in a company, and the company uses the money received to buy plant, equipment, etc., the amount will be counted toward GDP when the company spends the money on those things; to also count it when one gives it to the company would be to count two times an amount that only corresponds to one group of products. 
G (government spending) is the sum of government expenditures on final goods and services. It includes salaries of public servants, purchase of weapons for the military, and any investment expenditure by a government. It does not include any social security or unemployment benefits. 
X (exports) represents gross exports. GDP captures the amount a country produces, including goods and services produced for other nations' consumption, therefore exports are added. 
M (imports) represents gross imports. Imports are subtracted since imported goods will be included in the terms G, I, or C, and must be deducted to avoid counting foreign supply as domestic. 
Income method
Another way of measuring GDP is to measure total income. If GDP is calculated this way it is sometimes called Gross Domestic Income (GDI), or GDP(I). GDI should provide the same amount as the expenditure method described above. 
Compensation of employees (COE) measures the total remuneration to employees for work done. It includes wages as well as employer contributions to social security and other such programs. 
Gross operating surplus (GOS) is the surplus due to owners of incorporated businesses. Often called profits, although only a subset of total costs are subtracted from gross output to calculate GOS. 
Gross mixed income (GMI) is the same measure as GOS, but for unincorporated businesses. This often includes most small businesses. 
Total factor income is also sometimes expressed as:
Total factor income = Employee compensation + Corporate profits + Proprietor's income + Rental income + Net interest
Another formula for GDP by the income method is

GDP = R + I + P + SA + W 
where R : rents
I : interests
P : profits
SA : statistical adjustments (corporate income taxes, dividends, undistributed corporate profits)
W : wages
The Gross National Product (GNP) is the value of all the goods and services produced in an economy, plus the value of the goods and services imported, less the goods and services exported.
The gross national product (GNP), in economics, a quantitative measure of a nation's total economic activity, generally assessed yearly or quarterly. The GNP equals the gross domestic product plus income earned by domestic residents through foreign investments minus the income earned by foreign investors in the domestic market. Gross domestic product, often confused with GNP, is calculated from the total value of goods and services produced in an economy over a specified period.
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